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Guess Paper – 2009

Class – X
Subject –Science 
I. Answer the following in one or two sentences (1mark):-

1) Who showed that electricity and magnetism were related phenomena?
[Ans: Hans Christian Oersted.]
2) What is a commutator?

[Ans: A device that reverses the direction of flow of current through a circuit is called a commutator.] 

3) Does refractive index have any unit? Why or why not?

[Ans: No. Because, it is the ratio of two similar quantities.]
4) Why is soft iron not used for making a permanent magnet?

[Ans: Because soft iron loses its magnetism easily.]
5) What is the name given to the component used to regulate current without changing the voltage source?
[Ans: Variable resistance.]
6) Name the gases evolved at cathode and anode in electrolysis of brine?
[Ans: Hydrogen, chlorine.]
7) Write the balanced equation for the following: Phosphorus burns in chlorine to form phosphorus pentachloride.

[Ans: P4+10Cl2------------4PCl5.]
8) Name two flowers whose petals are used as natural indicators:

[Ans: Hydrangea, petunia, geranium.]

9) Give the atomic radius of hydrogen atom:

[Ans: 37 picometre.]

10) When calcium reacts with water, it starts floating. Explain:

[Ans: Calcium starts floating because of the bubbles of hydrogen gas formed to the surface of the metal.] 

11) What are phytohormones?
[Ans: The hormones that help in the growth, development or inhibition of growth of a plant are referred to as plant hormones or phytohormones.]

12) Which plant hormone’s effects include wilting and falling of leaves?

[Ans: Abscisic acid.]

13) What is genetic drift?

[Ans: The elimination of the genes of certain traits from the small population when a section of the species population dies of natural calamity or migrates to other region is called genetic drift.]

14) What evidence do we have for the origin of life from inanimate matter?

[Ans: Stanley.L.Miller and Harold.C.Urey experiments.]

15) Define: Incineration:
[Ans: The burning of a substance at a high temperature to form ash is called incineration.]

___________________________________________

II. Answer the following in very briefly (2 marks):

16) Why do different rays deviate differently in the prism?

[Ans: Every colour has its own characteristics wavelength /frequency. Different colours move with same speed in air/vacuum. But their speeds in refracting media like glass are different. Therefore, refractive index of the medium for different colours is different. As a result, different colours undergo different deviation on passing through the prism. Hence different colours emerges from the prism along different directions.]  

17) Wires used as leads of an electric oven are thicker than used in the leads of table lamp. Why?
[Ans: Current consumed by an electric oven is far more than the table lamp. As the heat produced in any conductor is given by the expression I2Rt, therefore heat produced in the lead wire of electric oven is far more than the table lamp. Hence in order to lower the value of heat produced in the lead wire of the oven its resistance is lowered by making the wire thicker.]

18) State two ways by which the speed of rotation of an electric motor can be increased:

[Ans:*By increasing the strength of the current,*By increasing the number of turns in the coil.]

19) How can the magnitude of an induced e.m.f be increased in a generator?

[Ans:*By increasing the area of the armature,*By increasing the number of turns in the winding of the armature,*By increasing the strength of the magnetic field in which the coil rotates,*By increasing the speed of rotation of the coil.]
20) Why, for a person living in metro city LPG is a better fuel than cow dung cakes for cooking food?

[Ans:*LPG is smokeless,*Easily available in cities,*Amount of heat obtained is more,*Less time consumption for cooking.]

21) How are acids and bases similar? Why bases are sometimes described as the opposite of acids?

[Ans: When an acid and a base react with metal, hydrogen gas is evolved and a corresponding salt is formed. Thus acids and bases are similar. Acids neutralize bases to form corresponding salts and water and bases neutralize acids to form corresponding salts and water. Hence, bases are sometimes described as the opposite of acids.]

22) Explain how corrosion is an advantage as well as a disadvantage:

[Ans: Corrosion is an advantage because in some cases it prevents metal beneath from being corroded. Eg.Al. Corrosion is a disadvantage because every year enormous amount of money is spent to replace damaged iron and steel structures to protect them from complete damage.]

23) Solid air-fresheners are complex chemical compounds. What kind of chemical bonding would these compounds have and why?

[Ans: Air-fresheners will have covalent bonding. It is because, they are soft solids which slowly change into gaseous state at room temperature, which are the characteristics of a covalent compound.]

24) What is denatured alcohol? What is the need to denature alcohol?

[Ans: To prevent the misuse of ethanol produced for industrial use, it is made unfit for drinking by adding poisonous substances like methanol to it. Dyes are also added to colour the alcohol blue so that it can be identified easily. This is called denatured alcohol. NEED: To supply cheaper alcohol to industries and to refrain people from drinking.]

25) What is periodicity of properties? Why does it occur?

[Ans: The repetition of similar properties after a definite interval is called periodicity of properties. Periodicity occurs due to the repetition of the elements’ outer electronic configuration.]

26) Why did Mendel select garden pea plant for his experiments?

[Ans: Mendel selected garden pea plant because it is normally self-pollinated, but can be easily cross-pollinated. It has traits with distinctly contrasting forms and also it has a short lifespan.]

27) Differentiate autosomes and sex chromosomes:

[Ans:*The pair of chromosomes which bear genes for determining body characters are called autosomes (22 pairs in humans).*The pair of chromosomes which are responsible for determining the sex of the individual are called sex chromosomes.]

28) Give reason why forest ecosystem is more stable than cropland ecosystem:

[Ans: Greater are the number of alternatives available at each trophic system, more stable is that ecosystem. In forest ecosystem, more alternatives in the form of variety of organisms are available at each trophic level. This is not so in the case of cropland ecosystem.]

29) Why are plants green?

[Ans: Plants possess green chloroplastic pigments called chlorophylls that absorb most of the blue and red regions of the incident light and reflect green light. So, plants are green.]

30) Give two functions of human ovary:
[Ans:*Ovaries produce female gametes (eggs or ova),*They secrete female sex hormones (estrogen and progesterone).]

___________________________________________

III.Answer the following briefly (3 marks):

31) What are the factors that affect the force experienced by a conductor carrying current in a uniform magnetic field?

[Ans:*Strength of current in the conductor,*Strength of magnetic field where the conductor is placed,*Length of the conductor (F=IBl).]

32) In the adjoining figure, give captions for each kind of magnetic field shown:
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 [Ans: (a) Non-uniform magnetic field in strength, (b) Non-uniform magnetic field in direction, (c) Non-uniform magnetic field both in magnitude and in strength.]
33) What is optical density? Is it the same as mass density? What is diffraction?
[Ans: The ability of a medium to refract light is expressed as optical density. It is not the same as mass density. The tendency of light to bend around an opaque object, when its path becomes very small is known as diffraction.]

34) In the adjoining figure, heating of lead nitrate is shown. On the basis of your understanding of the concept, answer the following:

(a)Name the fumes emitted and its colour:

(b)Give the balanced chemical equation:

(c)What kind of reaction is this?
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 [Ans :(a)The fumes emitted are nitrogen dioxide. Its colour is brown. (b) 2Pb(NO3)2(s)------Heat--------2PbO(s)+4NO2(g)+O2(g).(c)This is a kind of thermal decomposition reaction.]
35) What is meant by family of salts? Which of the following belong to a family of salts: Nacl, Kcl, Mgcl2 and Na2SO4? What is rock salt?
[Ans: Salts having the same positive or negative radicals are said to belong to a family. This basis of classification of salts is known as family of salts.Nacl, Kcl and Mgcl2 belong to a family of chloride salts.Nacl and Na2SO4 belong to a family of sodium salts. The deposits of solid salts which are brown due to impurities are known as rock salt.]

36) What are structural isomers? What is a micelle? What is a heteroatom?

[Ans: Compounds with identical molecular formula but different structures are called structural isomers. The cluster of molecules or aggregates formed in a soap solution is known as a micelle. An element replacing hydrogen in a specific hydrocarbon chain is referred to as heteroatom.]

37) List three ways through which AIDS can transmit from an infected person to a healthy person:

[Ans: By sexual contact, By blood transfusion, By organ transplantation.]

38) Can you think of reasons why more complex organisms cannot give rise to new individuals through regeneration? Explain:

[Ans: In some multicellular organisms some special cells

proliferate and make large number of cells. The cells in this mass undergo changes and give rise to various types of tissues and the lost part. But if these specialized cells are absent, the organisms cannot give rise to new individual through regeneration.]

39) What are trophic levels? Give any 2 ways in which biodegradable substances would affect the environment:

[Answer: The distinct sequential steps in the food chain where transfer of energy occurs are called trophic levels. (a)Decomposition of biodegradable wastes produces foul smell which spreads in the environment and makes people’s life miserable.

(b)Flies breed at huge heaps of biodegradable wastes, carry the germs and spread diseases such as malaria, cholera, diarrhoea.]

40) Observe the adjoining diagram. Name the tropic movement: What plant hormone stimulates this movement? Where is the concentration of this hormone high?  [image: image3.png]370





[Ans: Positive phototropism. Auxin stimulates this movement. Auxin’s concentration is high in the apical tip of the shady shoot area.]

41) Differentiate artificial selection and natural selection:
[Ans:*Artificial selection: ►It is an artificial process.►It is controlled by man on a limited scale in specific laboratories. ►Traits selected for improvement are beneficial to man.

*Natural selection: ►It is a natural process.►It is conducted by nature on a vast scale all over the world.►Traits selected for evolution are beneficial to the species.]

IV.Answer the following in length:
42) (a) Observe the diagram and calculate the effective resistance between points A and B :(b) What is a switch?
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[Hint or help: First, resistors R3 and R4 are in series. Using the formula Rs=Ra+Rb, calculate the total resistance. Now, we would observe that resistors R2, R5, R6, R7, R8 are all in parallel with the total resistance obtained from R3 and R4.Using, the formula 1/Rp=1/Ra+1/Rb, calculate the total resistance of this system of resistors. You would obtain 0.48 ohms. Now, take resistors R9, R10, R11 and R12. All these are connected in parallel. Using parallel combination formula, obtain this system of resistors’ total resistance. You would obtain 0.55 ohms. Now add this value with R1 and 0.48 ohms as all these are in series. We would obtain approximately 4 ohms. This is the required result.Ans: A switch is a conducting link between a bulb and a battery.]

43) (a) Why sometimes haloes and rings are observed round the moon or sun? (b) Name the colours numbered as 2, 6, 4, 3, 5 and 1 in the diagram shown below:
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 (c) When a monochromatic light passes through a prism, will it show dispersion or deviation?
[Answer: (a) When the moon or the sun is observed through a thin layer of the cloud, due to reflection of light from fine icy crystals, present in the clouds, results in the formation of haloes. (b) 2-Orange; 6-Indigo; 4-Green; 3-Yellow; 5-Blue; 1-Red. (c)No, it will not show dispersion. It will only show dispersion.]

44) (a) For the coil in the diagram, when the switch is on (1) What is the polarity of end A? (2) Which way will the compass needle point then?                                                                                                                                             
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(b) How does the magnetic field set up by a solenoid change when :(1) the number of turns of the coil are increased? (2) the strength of current is increased? (3) soft iron core is inserted within the coil?

[Ans :(a) (1) A-north polarity. (2) The needle would point south to north. (b) (1) Magnetic field increases. (2) Magnetic field increases. (3) Magnetic field increases.]

45) (a) How is ammonium nitrate obtained? Explain with a chemical equation. (b)Why is hydrogen peroxide kept in coloured bottles? (c) What is electrolysis? (d) Name the compound used in moulding toys and articles:

[Ans: (a) NH4NO3 is obtained by neutralization reaction between NH4OH and nitric acid.

NH4OH+HNO3------------------NH4NO3+H2O.                                                                                                                                                                         (b) This is done to cut off light because hydrogen peroxide decomposes into water and oxygen in the presence of light. (c) Decomposition of a substance by passing electric current through its aqueous solution is called as electrolysis. (d) Plaster of Paris.]
46) (a) Complete the reaction: CH4+Cl2--sunlight----___________. (b) Why do gas/kerosene stoves used at homes have inlets for air? (c) Name the compound having the formula CHCl3: (d) What are soaps and detergents? [Ans: (a)CH4+Cl2----------sunlight----------CH3Cl+Hcl. (b) to have a sufficiently oxygen-rich mixture burnt to give a clean blue flame. (c) Chloroform. (d) Soaps are sodium or potassium salts of long chain carboxylic acids. Detergents are ammonium or sulphonate salts of long chain carboxylic acids.]

47) (a) What is an amalgam? Give an example. (b) How are alloys prepared? (c)Name the constituents of the alloy bronze. (d) Give the name of alloy used in welding electric wires: [Ans: (a) An amalgam is a mixture of mercury with any metal or non-metal. Ex: Zinc amalgam, Sodium amalgam. (b) It is prepared by first melting the primary metal, and then dissolving the other elements in it in definite proportions. It is then cooled to room temperature. (c) Copper and tin. (d) Solder.]

48) Carefully observe the following diagram. Give a proper heading to it. Name the parts numbered as 1, 2, 3 and 4: Give any 2 advantages of labeled part no: 4.
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[Ans: Heading: Traditional water harvesting system-an ideal setting of the khadin system.1-Catchment area, 2-Khadin bund, 3-Shallow dug well, 4-seepage or groundwater. Advantages of groundwater: ◊It is protected from human contamination.◊It does not provide a breeding place for mosquitoes.]

49) Study the table and fill in the blanks in the table:
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[Ans: 1-Mouth; 2-carbohydrate; 3-pepsin; 4-protein; 5-Liver; 6-emulsified fats; 7-trypsin; 8-protein; 9-Small intestine; 10-carbohydrate.]

50) Give four changes that both boys as well as girls face during puberty: What is contraception?

[Ans: □ Both boys as well as girls have daydreams or night dreams.□ Both have little hair growth in the genital areas and other parts of the body.□The skin becomes oily and chances of pimples are predominant.□Both begin to be conscious and aware of both their own bodies and those of others. ●Methods used to prevent pregnancy are known as contraception.]

==================================================== 
Paper Submitted by:

S.Avinash 
Email:-  asurfiendavi@gmail.com













-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

[image: image9.png]